

Page 1 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001 151006M	1.000	5,000.00000	5,000.00	4,500.00000	4,500.00	17,600.00000	17,600.00
PERFORMANCE BOND PAYMENT BOND	AND DOLL						
0004 153009P	(1)	100.00000	100.00	54.00000	54.00	5,800.00000	5,800.00
BAR CHART PROGRESS SCHEDULE AND UPDAT							
0005 154003P	(1)	118,000.00000	118,000.00	100,000.00000	100,000.00	14,700.00000	14,700.00
MOBILIZATION	LS						
0008 157004M	1.000	3,000.00000	3,000.00	30,000.00000	30,000.00	7,350.00000	7,350.00
CONSTRUCTION LAYOU	JT DOLL						
0010 159005M	(1)	283,000.00000	283,000.00	277,000.00000	277,000.00	333,000.00000	333,000.00
TRAFFIC CONTROL	LS						

Page 2 of 26



Tabulation of Bids

Contract ID: 17137 Counties: STATEWIDE

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

	/ Item ID scription		(1) SOUTH S	STATE, INC.	(2) J. FLETCHE SON,			UBERTON FION CO., INC.
Alt Set /	Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	l: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0011	159015M	11.000	650.00000	7,150.00	1,000.00000	11,000.00	1,150.00000	12,650.00
CONSTRU SIGN, 4' X	ICTION IDENTIFICATION 8'	ON U						
0012	159018M	4.000	1,500.00000	6,000.00	2,500.00000	10,000.00	2,000.00000	8,000.00
CONSTRU SIGN, 6' X	ICTION IDENTIFICATION 12'	ON U						
0013	159029M	17.000	100.00000	1,700.00	3,500.00000	59,500.00	17,400.00000	295,800.00
PORTABLI SIGN W/RI COMMUNI		E U						
0014	201003P	(1)	1,000.00000	1,000.00	25,000.00000	25,000.00	44,500.00000	44,500.00
CLEARING	SITE	LS						
0015	603021P	395.000	68.00000	26,860.00	70.00000	27,650.00	43.00000	16,985.00
_	TONE SLOPE ION, 18" THICK (D50=	SY 9")						



Page 3 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.		
Alt Set / Alt Mer	nber Quanti	ty and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	1 RC	DADWAY		Cat Al	t Set:	Cat A	It Member:	
0016 612003	<b>o</b>	2,924.000	38.50000	112,574.00	22.00000	64,328.00	37.00000	108,188.00
REGULATORY AN SIGN	D WARNING	SF						
0017 612006	<b>-</b>	1,772.000	39.00000	69,108.00	30.00000	53,160.00	39.00000	69,108.00
GUIDE SIGN, TYP POST SUPPORTS	•	SF						
0018 612009	•	356.000	59.00000	21,004.00	95.00000	33,820.00	95.00000	33,820.00
GUIDE SIGN, TYP BREAKAWAY SUF	,	SF						
0019 612015	•	6,624.000	38.50000	255,024.00	35.00000	231,840.00	58.00000	384,192.00
GUIDE SIGN PANI	EL, TYPE GO	SF						
0020 612018	•	482.000	37.50000	18,075.00	30.00000	14,460.00	110.00000	53,020.00
GUIDE SIGN PAN	EL, TYPE GOX	SF						



**Tabulation of Bids** Page 4 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Contract Description: RT. 95, RT 29 TO RT 1 SIGN REPLACEMENT AT VARIOUS LOCATIONS

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0021	612022P	4,318.000	39.00000	168,402.00	55.00000	237,490.00	18.00000	77,724.00
SIGN MO	DIFICATION	SF						
0022	612024M	5.000	350.00000	1,750.00	500.00000	2,500.00	440.00000	2,200.00
RESET S POSTS	IGN USING EXISTING	G U						
0029	703050M	5.000	3,000.00000	15,000.00	4,000.00000	20,000.00	4,850.00000	24,250.00
LIGHT FIX	KTURE REPAIR	U						
Caatia	n Totalar			¢1 112 717 00		¢4 202 202 00		¢4 500 007 00

**Section Totals:** \$1,112,747.00 \$1,202,302.00 \$1,508,887.00



Page 5 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.		
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I:</b> 0002	CONSTRUCTION	ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0006	155006M	1.000	15,000.00000	15,000.00	40,000.00000	40,000.00	14,700.00000	14,700.00
FIELD OF	FICE TYPE B SET U	JP U						
0007	155024M	9.000	1,000.00000	9,000.00	2,500.00000	22,500.00	5,550.00000	49,950.00
FIELD OF	FICE TYPE B ANCE	MO						
Section	n Totals:			\$24,000.00		\$62,500.00		\$64,650.00



**Tabulation of Bids** Page 6 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	NON-PARTICIF	PATING (ROADWA	AY) Cat Alt	Set:	Cat A	It Member:	
0002 152004P	1.000	2,000.00000	2,000.00	7,000.00000	7,000.00	4,500.00000	4,500.00
OWNER'S AND CONTRACTOR PROTECTIVE LIABILITY INSURANCE	OR'S DOLL						
0003 152015P	1.000	1.00000	1.00	1.00000	1.00	12,500.00000	12,500.00
POLLUTION LIABILITY INSU	IRANCE DOLL						
Section Totals:			\$2,001.00		\$7,001.00		\$17,000.00



**Tabulation of Bids** Page 7 of 26

Contract ID: 17137 Counties: STATEWIDE

**Letting Date:** September 14, 2017 **District(s):** C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 EROSION CO		NTROL Cat Alt S		Set: Cat A		Alt Member:	
0009 158012M	217.000	5.00000	1,085.00	5.00000	1,085.00	10.00000	2,170.00
HEAVY DUTY SILT FENCE,	BLACK LF						
Section Totals:			\$1,085.00		\$1,085.00		\$2,170.00



Page 8 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S					RUBERTON TION CO., INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	SIGN STRUCT	URE (1118-210)	Cat Al	Set:	Cat A	It Member:	
0023 703021M	(1)	8,500.00000	8,500.00	10,000.00000	10,000.00	30,100.00000	30,100.00
SIGN LIGHTING, STRUCTURE 1118-210	NO. LS						
Section Totals:			\$8,500.00		\$10,000.00		\$30,100.00

Page 9 of 26



Tabulation of Bids

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	SIGN STRUCT	URE (1118-211)	Cat Al	t Set:	Cat A	It Member:	
0024 703021M	(1)	8,500.00000	8,500.00	12,000.00000	12,000.00	30,100.00000	30,100.00
SIGN LIGHTING, STRUCTURE 1118-211	NO. LS						
Section Totals:			\$8,500.00		\$12,000.00		\$30,100.00



Page 10 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007	SIGN STRUCT	URE (1103-205)	Cat Alt	: Set:	Cat A	It Member:	
0025 703021M	(1)	6,000.00000	6,000.00	10,000.00000	10,000.00	30,100.00000	30,100.00
SIGN LIGHTING, STRUCTUR 1103-205	E NO. LS						
Section Totals:			\$6,000.00		\$10,000.00		\$30,100.00



Page 11 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0008	SIGN STRUCT	URE (0328-202)	Cat Al	Set:	Cat A	It Member:	
0026 703021M	(1)	8,500.00000	8,500.00	10,000.00000	10,000.00	30,100.00000	30,100.00
SIGN LIGHTING, STRUCTURE 0328-202	NO. LS						
Section Totals:			\$8,500.00		\$10,000.00		\$30,100.00



Page 12 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0009	SIGN STRUCT	URE (1134-206)	Cat Al	t Set:	Cat A	It Member:	
0027 703021M	(1)	9,500.00000	9,500.00	11,000.00000	11,000.00	21,900.00000	21,900.00
SIGN LIGHTING, STRUCTUR 1334-206	E NO. LS						
Section Totals:			\$9,500.00		\$11,000.00		\$21,900.00



Page 13 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Contract Description: RT. 95, RT 29 TO RT 1 SIGN REPLACEMENT AT VARIOUS LOCATIONS

Line No / Item ID Item Description		(1) SOUTH STATE, INC. (2)		(2) J. FLETCHER CREAMER & SON, INC.		(3) M.L. RUBERTON CONSTRUCTION CO., INC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0010	URE (1330-201)	Cat Alt	Set:	Cat A	It Member:		
0028 703021M	(1)	8,000.00000	8,000.00	13,000.00000	13,000.00	21,900.00000	21,900.00
SIGN LIGHTING, STRUCTUP 1330-201	RE NO. LS						
Section Totals:			\$8,000.00		\$13,000.00		\$21,900.00
Cor	ntract Totals		\$1,188,833.00		\$1,338,888.00		\$1,756,907.00
	Plus Time Totals		\$1,188,833.00		\$1,338,888.00		1,756,907.00

() indicates item is bid as Lump Sum



Page 14 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONSTRUCTION GROUP, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	t Set:		Cat Alt Member:	
0001 151006M	1.000	13,582.71000	13,582.71				
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0004 153009P	(1)	5,000.00000	5,000.00				
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 154003P	(1)	200,000.00000	200,000.00				
MOBILIZATION	LS						
0008 157004M	1.000	75,000.00000	75,000.00				
CONSTRUCTION LAYOUT	DOLL						
0010 159005M	(1)	429,000.00000	429,000.00				
TRAFFIC CONTROL	LS						
			·		·		



Page 15 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONS GROUP					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	: Set:	Cat A	It Member:	
0011 159015M	11.000	904.33000	9,947.63				
CONSTRUCTION IDENTIF SIGN, 4' X 8'	ICATION U						
0012 159018M	4.000	2,110.11000	8,440.44				
CONSTRUCTION IDENTIF SIGN, 6' X 12'	ICATION U						
0013 159029M	17.000	1.02000	17.34				
PORTABLE VARIABLE ME SIGN W/REMOTE COMMUNICATION	SSAGE U						
0014 201003P	(1)	25,000.00000	25,000.00				
CLEARING SITE	LS						
0015 603021P	395.000	127.01000	50,168.95				
RIPRAP STONE SLOPE PROTECTION, 18" THICK	SY (D50=9")						

Page 16 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Iter Item Descrip			(4) IEW CONS GROUP					
Alt Set / Alt I	Member Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	SECTION: 0001 ROADWAY			Cat Alt	Set:	Cat A	It Member:	
0016 6120	003P	2,924.000	49.44000	144,562.56				
REGULATORY SIGN	AND WARNING	SF						
0017 6120	006P	1,772.000	48.23000	85,463.56				
GUIDE SIGN, T POST SUPPOR	TYPE GA, STEEL "U" RTS	SF						
0018 6120	009P	356.000	196.19000	69,843.64				
GUIDE SIGN, T BREAKAWAY S		SF						
0019 6120	015P	6,624.000	46.95000	310,996.80				
GUIDE SIGN P	ANEL, TYPE GO	SF						
0020 6120	018P	482.000	82.81000	39,914.42				
GUIDE SIGN P	ANEL, TYPE GOX	SF						
		'		'				

Page 17 of 26

Counties: STATEWIDE Contract ID: 17137

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONS GROUP					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0021 612022P	4,318.000	92.91000	401,185.38				
SIGN MODIFICATION	SF						
0022 612024M	5.000	696.43000	3,482.15				
RESET SIGN USING EXIST POSTS	ING U						
0029 703050M	5.000	3,918.78000	19,593.90				
LIGHT FIXTURE REPAIR	U						
Section Totals:			\$1.891.199.48				

Page 18 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONSTRUCTION GROUP, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION:</b> 0002	SECTION: 0002 CONSTRUCTION ENGINEE				Cat A	It Member:	
0006 155006M	1.000	20,259.25000	20,259.25				
FIELD OFFICE TYPE B SET	UP U						
0007 155024M	9.000	3,591.50000	32,323.50				
FIELD OFFICE TYPE B MAINTENANCE	МО						
Section Totals:			\$52,582.75				

Page 19 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONSTRUCTION GROUP, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	NON-PARTICII	PATING (ROADW	/AY) Cat Alt	Set:	Cat A	It Member:	
0002 152004P	1.000	5,090.04000	5,090.04				
OWNER'S AND CONTRACT PROTECTIVE LIABILITY INSURANCE	OR'S DOLL						
0003 152015P	1.000	1.29000	1.29				
POLLUTION LIABILITY INSU	JRANCE DOLL						
Section Totals:			\$5,091.33				



Page 20 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONS					
Alt Set / Alt Memb	er Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	SECTION: 0004 EROSION CONT		Cat Alt Set:		Cat A	It Member:	
0009 158012M	217.000	11.82000	2,564.94				
HEAVY DUTY SILT F	FENCE, BLACK LF						
Section Totals:			\$2,564.94				

Page 21 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONS GROUP					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	CTION: 0005 SIGN STRUCTU		Cat Al	t Set:	Cat A	It Member:	
0023 703021M	(1)	20,597.63000	20,597.63				
SIGN LIGHTING, STRUCTUR 1118-210	E NO. LS						
Section Totals:			\$20,597,63				

Page 22 of 26

Counties: STATEWIDE Contract ID: 17137

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONS GROUP					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	SIGN STRUCT	URE (1118-211)	Cat Alt	Set:	Cat A	It Member:	
0024 703021M	(1)	20,597.63000	20,597.63				
SIGN LIGHTING, STRUCTUR 1118-211	RE NO. LS						
Section Totals:			\$20.597.63				



Page 23 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Contract Description: RT. 95, RT 29 TO RT 1 SIGN REPLACEMENT AT VARIOUS LOCATIONS

Line No / Item ID Item Description		(4) IEW CONS GROUP					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007	SIGN STRUCT	URE (1103-205)	Cat Alt Set:		Cat A	It Member:	
0025 703021M	(1)	18,005.21000	18,005.21				
SIGN LIGHTING, STRUCTURI 1103-205	E NO. LS						
Section Totals:			\$18 005 21				

Section Totals: \$18,005.21



Page 24 of 26

Counties: STATEWIDE Contract ID: 17137

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) IEW CONS GROUP					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0008	SIGN STRUCT	URE (0328-202)	2) Cat Alt Set:		Cat A	It Member:	
0026 703021M	(1)	20,983.48000	20,983.48				
SIGN LIGHTING, STRUCTURE 0328-202	ENO. LS						
Section Totals:			\$20,983.48				

Page 25 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Contract Description: RT. 95, RT 29 TO RT 1 SIGN REPLACEMENT AT VARIOUS LOCATIONS

Line No / Item ID Item Description		(4) IEW CONSTRUCTION GROUP, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0009	SIGN STRUCT	URE (1134-206)	Cat Al	t Set:	Cat A	It Member:	
0027 703021M	(1)	21,923.99000	21,923.99				
SIGN LIGHTING, STRUCTURE 1334-206	NO. LS						
Section Totals:			¢21 022 00				

Section Totals: \$21,923.99

Page 26 of 26

Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 District(s): C1

Call Order: 137 Project(s): 100% STATE

Contract Time: 06/18/18 COMPLETION DATE Min: Max:

Contract Description: RT. 95, RT 29 TO RT 1 SIGN REPLACEMENT AT VARIOUS LOCATIONS

Line No / Item ID Item Description		(4) IEW CONSTRUCTION GROUP, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0010	SIGN STRUCT	URE (1330-201)	Cat Alt	Set:	Cat A	It Member:	
0028 703021M	(1)	20,175.61000	20,175.61				
SIGN LIGHTING, STRUCTUR 1330-201	RE NO. LS						
Section Totals: \$20,175.61							
Contract Totals			\$2,073,722.05				
Cost Plus Time Totals			\$2,073,722.05				

() indicates item is bid as Lump Sum



Vendor Ranking

Page: 1

Call Order: 137 Contract ID: 17137 Counties: STATEWIDE

Letting Date: September 14, 2017 10:00 AM District(s): C1

**Contract Time:** 06/18/18 COMPLETION DATE

Contract Description: RT. 95, RT 29 TO RT 1 SIGN REPLACEMENT AT VARIOUS LOCATIONS Project(s): 100% STATE

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	S6836	SOUTH STATE, INC.	\$1,188,833.00	100.00%
2	C7281	J. FLETCHER CREAMER & SON, INC.	\$1,338,888.00	112.62%
3	R8552	M.L. RUBERTON CONSTRUCTION CO., INC.	\$1,756,907.00	147.78%
4	12943	IEW CONSTRUCTION GROUP, INC.	\$2,073,722.05	174.43%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,